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AND INHERITANCE

Q.1-
- Ans.

‘ SHORT QUESTIONS o
Define Zakat ~ . ‘ :
Zakat | is one of the ﬁve Plllars of Islam lt is the' -

.~ amount which wealthy Muslim pay to the poors and

- Qa2-

. Ans.

Q3

- Q.4-

~ Ans.

. Q.5-
Ans.

1
- needy. The rate of Zakat is 2. 5/; or -~

40 of the total’ |

- value of the goods or cash amount

‘What is Nisab and who is Sahlb-e-leab" :

7.5»to_la (86.1262 gm) gold or 52.5 tola (603 gm) silver
~or cash amount equivalent to the value of this quantity

-~ of gold of silver is called Nisab and the Muslim who
keeps one of these things for one year is called
‘Sahib-e-Nisab.”

‘Who is to pay Zukat?

Only Sah1b—e~Nisab Mushm is requxred to pay 2.5 A or

I
70 —of hlS wealth to the poors and the needy

leferentlate exposedland unexposed wealth. .
Agricultural goods, Camels, Sheep goats, Minerals,

Business inventories etc are exposed wealth. Whereas
Gold, Sitver Cash amount, llqmd assets etc are
‘unexposed wealth. |

What types of goods are exempted from Zakat"
Capital goods like machinery equlpments raw
material, factory bmldlng etc are exempted from

Zakat | .
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| Q 10- What do you kﬁé%ﬁm}@tance"

| ~ After the death of . ? ?gﬁggg;@e assets left by hl'm ahe f
040, ﬁauqumexmem g buedamens ths legal)

~ heirs accordmg to the Principle of Islam. aeiiloR
- Q.11- ‘What should be d;qn@\ hefoge. glgggn,bq,t;on of
~ inheritance among heirs? ;, « o . o |
Ans. ‘Before the distribution of it; ghe followmg three
' payment‘s should be’*lb‘zh‘&\ Shx ;g{{& o
YU/ Payment of funeral expenses

(i) Payment ofﬁehté bf‘&ec ased

(i) Executmn of bﬁ{«hmkal . 5;1 - .
Q4o dyb%ﬂ}th@;ﬂhﬁﬁ;&f A mﬂﬂmmmmmnf hen;) .

husband dles"

- fim}moe"

B e yrr K ]
. Ads. If the husband is 1ssue}i sS, I*iﬁe"wld W %ﬁ B of

oits 10 807, © = 15rNd |
: the mhentance if the husband has children, the

] \?h‘a\\lﬁ /~~ o
| W1dows share s % of the wealth. * - A
Q. 13- How is the inheritance dlstﬁ%‘?&‘l bek: .. a

o | and daughters o o ‘f HOET )H—-

Ans, A songsts 2 shate savalio that of twa danghigs - 5.0
- Q.14 Whatis the share of hysband wcmmsmﬁmes" |
Ans.. Hepill getne DK of {5 iherienssds has o

Q. 15- A person, having no child, died and léft an ampym;z )

N | O_fﬁ\?ﬁ éQO ,900 thgcls me shareof, hlﬁ WIFQ{.
| Solutlon &s lhg,degeased persgm‘w;asaehlldj,eshigp m gl

Share oﬁ‘u&idcﬂw ::xbdf‘ihhbﬁkméc h mm'ﬁ e fui
' . 14" DY OO 28 = o =
| =730 00000 1 07 < edsN

- st;?j(_l.{l{)U Ans. R
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.SOlVED EXERCISES
- - EXERCISE 2.1 -
Q. 1- Calculate Zakat on gold amountmg to Rs 11 10, 000. SO
Solutlon - - :
" The amount = Rs./1, 1000 |
- Zakat = Rs.2. 5 ﬁof amount
22, 10 000
© 00

e LY
e

H—

1. 10, 004-} |
‘ 44 |
| - =Rs. 27750Ans ' o
Q.2- Calculate Zakat on silver amountmg to Rs 3 00, 000.’
| Solution - | ' - -
The amount = Rs 3 00, 000
Zakat 9.5% of amount
s —2—£x300000 .
- 100 .
25
- 4009
| ‘--Rs7500Ans R
Q.3- Calculate the amount of Zakat on. 10 tola gold and

X 300-999-

40 tola silver, if the rate of gold is Rs 40,000, per

tola and the rate of snlver is Rs. 5000 per tola.

‘_ So}utmn -
Price ofgo]d =40 000><10 B 4:~Rs.400;000 |
Price of silver=40x3000 - =Rs.200,000
lotal Amount =Rs.400,000 + Rs 200 000 o

= Rs.600, ()f)() :
/akat - 2.5% of amoum . -

o



v . 7 ' Friendly Notes For General Mathemtics 9

= —2—2- X 600000
100

= Rs. 15000 Ans.

. Q.4- Calculate Zakat on gold of worth Rs 8,00,000, cash

of amount Rs. 4,00,000 and s1lver of welght 50 tola
~ (Rs. 5000 per tola) o o

' Solutlon - . -

- Worth of gold Rs 800 000

Cash amount = Rs.400,000 , .

Worth of silVer‘ = ‘50x5()00 - =Rs.250,000 o

* ' Total Worth = Rs.800,000 + Rs.400,000 + Rs.250,000
. = Rs /450,000
Zakat =2 5% of Worth =
= —Zi x 1450000
100

- =Rs.36250 AnS

Q 5- Calculate Ushr on a rice crop produced by natural |
| resources amountmg to Rs. 6, 00 000.

Solutlon - o
‘Total amount = Rs.600. 000
. Ushr for natural resources 1s

- 10% of Production. Thus

. Ushr = 10% of Rs.600,000. .

- ‘=_’ﬂx600000
T 700

e

‘=Rs.60000Ans. ©~ - |
Q6— “Calculate Ushr on a wheat crop amountmg to
Rs. 3, 50,000 produced hy artificial resources.
* Solution:-
~ Amount of w heat. Crop = = Rs. 3 30, ()()()

- For artificial resources. ushris
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Ushr 5% of Rs.350,000 R
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N xiew C«“iéf mmm&ﬁgg’«aﬁ%mg GORT T en.zmh ; 20
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Q.7- Work out the share of‘%&’éﬂ"liﬂ?ﬁ% ﬁﬁnerlted',j .
property amounting to Rs.7,50,000 is 1é¥¢ Iyspg

- deceased, who alsO e ft’s whdovis e 60s6Hi™s'and one
| daughter 000,004, 25 == = RHOTE ek O
| Solutlon \\\\’f (\““fﬂ {\}i‘)t‘f‘\f e uff;ﬂu oW
{3}“3 Le Sﬁﬂibmﬁ‘éﬁf i‘ﬁheﬂihncék‘ﬂd Rﬁ‘fi’éﬂ, 6005 1c’ fv’ Ih ¥
. ' ] 00QFLL 25 = '
N Nk
share OledOW ‘>< s RS 9 75? e K

o '(iz;)' Remammg amount tha\g [\lf fa be be dlstﬁbutcd S

~(.._. ........ -

' among 2'sons and / daughter = it c
0 =Rs75006(x %?1{3\93%5& = Rs.656250
(tﬁ}’“RR&ﬁbWﬂ (qo1a 3201 & a0 142l &!EEH&!& 3 - g,} -'
| Two sond!U0. ﬁﬁ@ng,dmfﬂmum SRR EITLY I
2: 2. : ) R 01 ume’ B

Sum of ratios DAL L2 S sorme fe10T '

af}?ﬁtmuow Fitse ;fq us@ 1

== x6
Shareofeachson 5,M5 Sotoh o o o0

| _aw,@m& ﬂR$\25250@ i

Share’cf daughter =z XGMM@‘-* I%;\I 3250 ’
Q 8- - An amount of Rs 4 00 000 left:as. aﬁ:mhentance is

ol nmi&m&mﬁdlﬁiﬂhﬂﬁdr amangda Widowsand fowr

Sanghtersinrkeusdhe.shave gfivaebe £ 51

. Solutlon - Inherttance 400000 il
Cpenoe s Ly s N
WldOW s share is = of tﬁe mhenfance S ' ,
‘ "‘854{(” ;H f},, H; H "!‘,:‘,,-E" -7
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Remaining amount ﬁlﬁ’lgqo 'B%d cfl?ﬁgfb{ﬁiéici'Jg“ y |
o among4 daughters. : - sion

\ﬂi@ \MO‘% ﬁg{%@édu {3“10 fi
mmwaoéo sl bW

* Share of eackvda\&‘g‘@té?% ?*350000 =87500

bﬂ 208 uunﬁz %‘}%ﬂf AF od 01 Huome w:rh

‘) Q 9. Ifs a deceased left a Property of worth.ﬁé“i’ﬁoﬂ 000

| -workout e % ety H i left behmd a widow .

\ Solunon - B EUNURS S ST -

| ‘Worth ofProperty Rs.15.00,000 j oims

As there is no chlld“a:debb wod erice v sl - '
- o Y .rt:‘!;‘_-

Wl,dows share; i xqf l;\go'p\e}rty L

A RS R fw o
-’ 7 |
‘\ﬁ%;”* MQ?S?O@ mR&i?ﬁﬂQQ uﬁﬂs iy

. _‘"Q 10- The mherlteqip‘mnyﬁmountmg to Re. 20, 00 000 -
~ . is left by a deceaseq He left behind a widow and
b i\msoﬂs“Wpout\mershmJohm Toosdd - G

ﬁlﬂmlﬁ% Gk 25 o “fgﬁmmmrm hibeoe k119 dagin¥ z.' -u% ﬁ
a,[u%n% ar!% ﬂ?nlg wrohiw 5 hﬁmim ol

.' W (-'Wldm(f‘gléhﬁré eiu{:tﬂ'}ﬁow a1k3 hm*! biam

ftmiﬁ,;m’
mmﬁ X 251 (7*(’)0\96“«Q R4, ?ﬁ)mﬁﬁhs

. o f}f' ’E i JOiT nf’"ﬁa({ j\
(i) _Remammg Amoum to be disir ributed

| belween two sons ! stﬂiﬂ() (6 Tsﬁb JWW 3

*Rs./ 7.)()1)()()

g SN A = s - DI
~ Share of each son=""7 ‘”-*’Rsé’ 3()()(1/\;15

Fa
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Q. 11- Asghar left property of worth Rs 4 80,000 he left

- behind a widow, three sons and four daughters -

- Calculate the share of each one.
Solutlon - o
Worth of Property = Rs 4,80, 000 “

-]
WldOWS share = rk ><480000 '
o = RS 875 000 Ans
The amount to be dlstrlbuted among sons and o
daughter N -

= 480 000 60 000

, | -Rs420000

".Ratlo- | |
Three sons Four daughters :

%'2,2,.2.1\-':1:'1:«1‘:
Sumofrati(-)se2+2+2+1+1—-41~+’1+~1 =100

| ~(ii)‘ Share of each son = 75 x 420, 000
o -Rs 84000 Ans

7 (m) Share of each daughter- 75 X 420 000 = —Rs 42000 Ans.

o Q. 12— Najeeb left a wealth amounting to Rs 4 00 000. He -
L Jeft behmd a widow, while they did not have any

child. Fmd the share of Najeeb S wndow

. Solutlon- o g | e

‘Wealth left by Najeeb Rs 4, 00 ()()0
s there was not Chlld So =

| o I
.- Widow's share-= ; of‘ wealth

- %400000 Rs 100,000 Ans |
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R Review Exercise 2 o

Q.1- Encirclé the correct an'swer A
(i) Zakat is. deducted at the rate of . |
 @25% B35 %
(c) 4.5 % - (d)5.5%
(i) On a crop produced on natural resources, Ushr is
| deducted at a rate of | - B

@25% . (b)‘w' .
o @©@10% @D20%
- (iii) .On a crop produced on artrﬁCIal resources Ushr is
P deductedatrateof | e e '
{a) 5 % | T (B 10% S
O (925% . @»s%
" (iv)  Zakat on an-amount of Rs. ]00 000 is:
- (@2500 o (B) 25000
(c)2000 - (d) 15000
(v} - Ushrona wheat crop produced-on natural resources
- amounting Rs.1,50,000 is: ‘
' (a) 10,000 - ' (b) 5000
o (15000 - - B (d) 20000
- .(vi) Q‘_The share of a childless wuiowmmhented property 1s o
oy 0 i
,-(c)- S @2

: -_(Vii)- “The share of widow in the presence of a Chlld or
o agnauc grand Chlld is:

(_t_‘); () _6-/ ‘. |
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- (viii) If there is only aah@g;{dmb&r or an. agnatlc grand

daughter her Sharﬁ:%eﬁ&ﬁdhanm siftalotian <10

() ‘ JE() );j.z.i .Hc[ (b) .tbt,-’f;;ij #i tu'il o ;\*;‘1"
a e L ‘ - -
: 4 WUy | 6 B POy
. c’:‘ R S o . . V oy .J\,-‘ . .
- ST s
st it edstuoes it D %:am_s:b AR TER PR TESL AR VAN

) __(ix) If thete are two or more thag tw ﬁ({glu,ghtg{ﬁ Jgg gagnatlc

“grand daughgef, the\n thelr shareis:  sv7 S

@i e h L wne
ar 3ileid 2 ;%mw'ﬂ ini mmu, fio b mbgn‘ G010 5 nﬂ k\m‘«. o
| i »ga 8 bﬂmz::at} |
© 2 ) !

’ - . ) £« \‘ : ) ‘q{" l‘q\;
| (ix) If there is Qne %ughter and. agnatlc g(and-daughters

‘.\ 'vv-i-

then' share are r‘e§pkw ?}X{} jn j{)m,;. (e %:_{;,}mf& ;\*\n}
(a) - é— !‘aﬂs‘:'&,f._u%w a -(3’7) \_._,-5- g}'x;;f&_g u\sg}'; T
L "1"'1 NEATATA Y I LIS EAY
- :__ a*:},:*;s éﬂ)! ?ﬁ?ﬂﬂ o b.ummq qe*xja}hsgi»g 5 oo adeld k;«f')
| Ans:. . | «m A\ i)r 1. aﬁi goitouoms
o \M ki‘f ‘ '

. 4
Y

“tiv)- 7akat on"an amount ()J Rs. 2,00, o00is -:' S

i ('\J\ L L .

‘/'

1 4 ML(Lnlf

N9 T S ke Rl : SRR VY
Q.2- Fill in the blahks._ S .x;s_;‘_
N/ 4 akat is deduc‘teg‘ata rate of R

o (iiy  Onacrop produced on mtural resourc,es U s%r is -

10 L”l“dédﬁc[téd‘a't‘a’f‘éi’efofd; il wobtw To stsde od et
aim‘m bm;w oifition .

( l”) -On a crop produced 0{1 artificl resoureés t{s T is
~deducted at a rate of ~ V\x o ';gm}_

i
P

ny Ushr at a rate-of 10° % on\amoum of Rs. 1,00, 000 is

v
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i T an  mhérited profjértymthe share of a widow, js”
~(vii) " In an inherited property; the s hﬂ{e ot a;.v\adqw 1151 case
~ofno child is . ~ , ,

(vm) If there is only a s1llgl claugbter then share in

- inherited property-is'__., ”Wp PR = -
: -a(sxlsfw e shmaﬁawdsmma mmnhﬁrm@l propma o
o Imnlﬂ“lﬂil'l@fﬂtb(){y bk wobiw & boidsd il atl

e ,-(x)_- - If there are two or more. than twqﬁatgh&eas;ﬁtn their

share 1n an mhented property is. L4 m‘w’
‘_-Ans: SN 200 QUL a5t = o ’fwmu R
W25%  |Gg0%, 0. e s%, ")
L : : ":"T“-"l Tt J]L. p522 0 pw ey
: (zv) RS 5000 . {V)g Rglﬂﬂw - e 'gof pfoperty

BT yll%hw TR B Y F;luffﬁhnﬁﬁhf’nﬂnwmaﬂ

" .(v_z,t) ;Qf provparty (viii)_}—of.pfoparty (lx) 2: 0

S .Eﬁﬁﬁ e
(x) of property Canee o e ool e s -

| %.?st..l'%..\ 0L 7

"’Q.3- , Calculate Zaléﬁt nQMamounﬁnngs 1\5,68,000.1\%‘*‘ ]

e -SdlLitlon -

?l}f\ lbf Chaie Y e e | : X

< ol o0dA “?s.ogﬁ It B350, Q;‘; & ol meviA  -d, ag)'
. '"wﬂ'l l)%?ﬁl'fasﬂﬂgg% ilval?fi'hmnr & baidad sl
| | figi:gio,g y!g%(pgygm waie) #wisi*rm@%} |
o ponion,
- 25x(&(}q\,_, ‘rsrégéogitx STIR SRS T O
Q4- Calculate Ushr on a rice crop amounting
Rs.4 90,000 pi*éaaSeé by; ammm resourcss, .

SOluthIl - r"lj«fﬂ ")l_“,' 3‘} “ J‘;% o

S yross Amount gfncgqripp[li&g? 0% _wmwwmﬁ
~ Asthe productlon is by amﬁqxlalﬁﬁag

l}.{ iAJ ‘3"“:9‘
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. So, |
‘Usher = 5% of production
5.x4900—99-' o,
_Rs.24500 Ans.

Q5. A deceased left a property of worth Rs.45,00,000. If

he left behind a widow and two sons, work out the
' share of.each. o o

- Solution:- B

Property worth Rs 43, ()0 000

3 !
(i) Share ofwrdow =“§><45 00 000

, =Rs. 5625 00 Ans
Remaining -amount that is to be. dlstr,ibuted' between_ |
two - | -
. sons.
- =Rs.45,00., 000 ~ Rs. 562500
=Rs.393 7500 '

o ]
(i) Share of each son =7 ><3937500

. - | -—Rs]968750Ans | -
Q6 .Akram left a property of worth Rs 48,00,000. He
~ left behind a window; three sons and four

daughters Calculate the share of each
Solutlon- o
- Valueof property Rs. 48 00, 000

(i) Share of .wndow =3 ><48 00, 000 .

= Rs.6,00, 0()0 Ans. X
Remalmng amount that is to be dlstrlbuted among
sons and daughters B
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Raﬁo -
*Three sons  Four daughters"
"2:2:2: I:id:I:1:

N

(i)

Q)

~ The basic plllars of Islam are

0

(i)

| (iii).

: (iv)

W)

T T

=Rs.48, 00 000.~ Rs. 6, 00 000 = Rs.42, 00 ()00

Sund dfratios =2+2+2+1+1+1'+I+1 = 10
-2
Share of each som = 75 x 420, 000
_Rs 84000 Ans.

R 1 -
* Share of each daughter 0" 420, 000

=Rs. 42000 Ans.
MUI.TIPI.E CHOICE QUESTIONS :

Chose the best of given answers -

(@  Two ~(b) Three -

(¢) - Four . (d) ‘f‘Flve o
Nisab for Zakatis | B

(@ 75tlofgold  (B)° 525t0laofsiver
(o) Cash value of 7.5 tola of gold or 52 5 tola of silver -
(d) . Any one of these three S :

Zakat is paid from | ‘
(a) Exposed wealth (b Un Exposed wealth

1, Both of these . (d) Any one of these

Usher from the land Wthh is n'rlgated by tube. wells is

(@) 254 B 5%
| . 1
© 10% @ g -

~ The assets left by a deceased person- is called .

(@ Property '(b):' Wealth

(c) Inherltance () - _Amhunt '



'F”"%“f«‘,’ﬂ"ﬁ"f"!n(i‘%"‘f MJ' miey B
'mlm&"xwmumuwhmmuvpm—mn mmmm Mw;uwwwwa\-;"wwwnwﬂ

i) Ayman-diediand, @{E Lo, dagghgqrg, ang a grand -
- daughter The grand daughter would share o

H.Olﬁ

| (a)"“._ 'g of mheritedf?:é’“f"b “(?J?)1 | dI”‘’(?f‘frfl’\ilﬂfltance SN
A ‘1 w, T

- (c) kero REA fd} a6 “"*Iof}rtﬂié’rltance o

(vii) If there is oné?idhdghter"aﬁdzgrahdﬁ?d&ughter then
- share of grand d?qghlte }13 | |
!

@: 5‘%&6@4; t ) x; :Tf Tﬂf’i'u D mr@ {e tm,{ SR L

. "l,.\, "2 o

() Zero aru‘ BRI %i‘d) =

- _(V.iz’i) In case, a&tﬂiﬁwa@ﬁﬂ& S-h‘mdmf husband in her o

~ property is VR 1 sig 1o }}%d qm szod 3 (O

_' ] P ; o
| . , 6 islal loysint] fg_.;m dodl B
(a) 3 - (b) Cw
SN 2. gt i' vy ofT %.n"a o
| (c) L f ,‘i‘-f, T EY -:u%

Lx 53 .!{b\. 3'*\\}1 {’h(” "'f . \1\5?

(%), i H?Yggﬂan}’ dutlgs are perfq(-)o ed whep a Mushm d1es

RN

1}' vz E:(.? ts ff..i‘.f r’];‘y ?—U hh,{ ey o (P'} ish! ﬁTl}!!l:‘” \‘.‘:J . o

- (Q) FOUI' ;Eiii o )t f:ﬂff ﬂs),;f (, i ;Y s\‘:,)x
(x) Zakat on amount of Rs. 10, 00 000 js

s”i! h:m e; ML\ \w‘
(a) aaloooogu i {H» fr,_m ,J:;»lu fr x.n“ -
. ,,eulv ),‘neoml\ s\>\ (ngl} rgsr!*‘d ()p JQ: .
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- Time : 40 minsi Max Marks : 25
- QU1 Enclrcle the coprcet aﬁﬁwer. o Wy
U Za]ﬁ@iitﬁgmlﬂff%q {,}»’mmb foed flobatsees odT - T o

" (a) Exposediwealth (B}, Un Exposed wealth,, - |
(c) Exposed argd;un ex@esed yvgahhm ) Cash Money
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(i) “Which one is exempted from Zakat -
" (@) + CashMoney (b) - Gold .
(c) | Liquid assets (d) - Capital Goods -
~ (iii)  The crop is produced ;by natural resources. Its amount
~ is Rs. 150,000. The ushr of this crop is -

" (@  Rs:7500 | k) Rs.3750.
©) Rs. 15000 . <(d Rs.30000 -
(iv) . The share of a childless widow in the property of
~ Rs.100,000is. . |
(@ - Rs. 50,000 ®) Rs: 25000
c Rs. 12500 - () Rs. 16666

(v) ~Wife ofa person died and left inheritance amountlng
Rs. 5, 00,000 the share of that person is. |

(a) RS 10,000 (b)  Rs. 25000
. @ Rs 250000 - (@  Rs.62500 -
 (vi) - Zakat on Gold amountlng toRs. 11,10,000is
(@ Rs.27750 . () Rs.55500
| © Rs.11100 =~ - (d - Rs.72750 .
i) ‘The assets left by a deceasedperson 1s called
| (@ Wealth . () Property
(c)  Inheritance (@  Amount
Answers: a b ¢ d | | |
@ O O O O
o O O O O
@) O O O O
v O O O O
» O O O O
e O OO O
i) O O O O
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Q.(2) Attempt any five of the following short questlon

i
(ii)

(iii)

()
(V)4
| (w)

o Wii)

B

@ ‘_

5

. What do you know about ushr on two kinds of lends
~'Who is required to pay Zakat ? .

Calculate Zakat on an amount Qf Rs 5,00, 000.

- What kind of payment are pald before dlstrlbutlons of

inheritance.

- Find the share of 1ssueless w1dow in the property of ,_
| Rs 30,00,000. ' '

Calculate ushr on a Crop Produced by natural
~_fesources amounting Rs. 600,000.

Calculate ushr on a Corp amountmg to Rs. 350 000.

.Produced by artificial resources.

'Pnn II

N .Solve any Two of the following questlons |
* Calculate Zakat on cash amount of Rs. 300 000 gold
of welght 40 gm and silver 500 gm. The rate of gold is .

Rs.3500 per gm and that of sﬂver is Rs. 400 per gm.
If wheat Crop is produced 40000 kg by natural -
resources and the.price of wheat IS Rs 950 per 40 kg

| Fmd the amount of Ushr.

Asghar left a property of worth Rs. 480000. He ]eft. .
behind a widow three SOns and four daughters Fmd

the share of each one.



